c/#Ene% = GO \H\

o/ e €€ i g

ooyy6 |mre T

7L | sty 80/L0/ /6L 3 3 3
LL [ ;e =g 0L/60/5.61 3 3 3
oL | 1= erwée 6961/00/00 3 3 3
6 | e £1/90/2861 3 3 3
g | <& 97/71/0861 3 3 3 .
L | 20 ey v2/v0/SL6L 00°0L 00'LL 0001 €701 f<2
9 [P <> L1/L0/vL61 00'CL 000L 0001 LSOL n<
S | e e 0£/0L/0861 00'CL 0001 00'LL 98°0L n<
T v T-ANLANTC £ S£61,/00/00 00l 00°LL 00'LL LS'LL n<2
£ |eriep e £0/10/t861 00'SL 00'LL 00'LL pLTL <2
T | erepy 0Z/10/1861 001 00'€L 000L 34 <2
L | o™ inC +0/€0/v961 0S'vL 00'7L 00zt LL'TL n<2
= L4 had\el € = [4 ey
E I el AR e b g IRy D 0 657 gy | g€ _33. T
K@ ¥y : 560 e G- e alla T,
ST T (Ke IS e remiTe I 0 (R0 | 7Y
e Ty v Im<céo: Lo
Taadsk "9 yzoz T
IREIe e : Qe vy Koo 4 I 0
< I Dsganial
! 3
Yowp S b 669 iy | Sipey e E | promeR Aory

IReoBE Py | pielTp ypriorSierp |ppeiy



